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Alex shares the food equally among 10 boxes.
Find the weight of food in each box.

(@ | Nuts | (b) | | P'q.snt.'_(] | (c) ‘Beans
7kg L kg 15kg

(@) 24+ 10=H @®)8+I10=H (963=+10=0 (@3l=10=H
()E+10=02 (NE=+10=45 (9EH=:10=69 (yB=:10=7

Alex shares these drinks equally among 100 bottles.

Find the volume in each bottle. - !i

8 (b)52+100=H (¢)3+100=H " (d)66=100=H
=100 =056 (f) @ +100=0'4 (g) @+100=0-73 (h) H =100 =0-05

(@) I5-EH=15 (b) 27 -H =027 (c) 6+-E =006
d 9+EH=019 (e) 51 +M=5] () 24+-E =024
(a) () half of 0-54 (© 5 of 07

(d) (e) H+2=319 H E=2=46

(@) Share 2-8 kg of dried fruit (b) Share 7-2 [ of olive oil ‘
equally among 7 customers. equally among 9 customers.

(@ 1-8+3=H ®42+6=0 ()64+8=H (d)36=-4=M

(€ 35+H=07 () 54:M=06 (g)28:M=07 (h)56=M=08
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